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Computational graphs
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Modularized implementation: forward /

backward API

Graph (or Net) object (rough psuedo code)

aph(object):

te in the graph outputs the loss

sed(self.graph.nodes_topologically sorted())

e piece of backprop (chain rule applied)
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Sigmoid ’ Leaky RelLU
o(z) = 2 max(0.1z, x)
1+e— =

tanh
tanh(z)

Maxout
max(w] x + by, wl T + by)

ReLU ELU J
T x>0
maX(O, x) m § {a(ex _ 1) <0 - ~ Y

Neural networks: Architectures

output layer
input layer input layer
hidden layer hidden layer 1 hidden layer 2

“3-layer Neural Net”, or
“2-layer Neural Net”, or “2-hidden-layer Neural Net”

“1-hidden-layer Neural Net” “Fully-connected” layers




